Numbers of Interviews conducted contributing to the area by day and access site Eagle Island Marina West Motel Ucluelet

		Eagle Marina	Island West	Marina W	/est Motel	Ucluelet Gov Dock
		Mid Day	Mid Day	Evening	Mid Day	Mid Day
28 June, 2014	Weekend					
29 June, 2014	Weekend					
30 June, 2014	Midweek					
01 July, 2014	Weekend					
02 July, 2014	Midweek					
03 July, 2014	Midweek					
04 July, 2014	Midweek					
05 July, 2014	Weekend					
06 July, 2014	Weekend					
07 July, 2014	Midweek					
08 July, 2014	Midweek					
09 July, 2014	Midweek					1
10 July, 2014	Midweek		1			
11 July, 2014	Midweek					
12 July, 2014	Weekend					
13 July, 2014	Weekend	2				
14 July, 2014	Midweek					
15 July, 2014	Midweek					1
16 July, 2014	Midweek				5	
17 July, 2014	Midweek			3		
18 July, 2014	Midweek					
19 July, 2014	Weekend				2	
20 July, 2014	Weekend					
21 July, 2014	Midweek					
22 July, 2014	Midweek				1	
23 July, 2014	Midweek				2	1
24 July, 2014	Midweek					
25 July, 2014	Midweek					
26 July, 2014	Weekend	2				
27 July, 2014	Weekend					
28 July, 2014	Midweek					
29 July, 2014	Midweek					
30 July, 2014	Midweek					
31 July, 2014	Midweek					
01 August, 2014	Midweek					
02 August, 2014	Weekend					
03 August, 2014	Weekend					

Daily tally of interviews, catch and effort

Date	Day	Day Type	Area	Average Fishing Conditions	Interviews & Log Trips	Chinook	Coho	Sockeye	Halibut	Observed Fishing	Flight Time	Expanded Fishing
28 June, 2014	Saturday	Weekend	Area 24		4	6	3			2	1158	2
29 June, 2014	Sunday	Weekend	Area 24		1							
30 June, 2014	Monday	Midweek	Area 24		2	1				2	0949	2
01 July, 2014	Tuesday (Canada Day)	Weekend	Area 24		0							
02 July, 2014	Wednesday	Midweek	Area 24		0							
03 July, 2014	Thursday	Midweek	Area 24		2	10	3					
04 July, 2014	Friday	Midweek	Area 24		2	2	2					
05 July, 2014	Saturday	Weekend	Area 24		4	9	16			37	1012	37
06 July, 2014	Sunday	Weekend	Area 24		7	13	26					
07 July, 2014	Monday	Midweek	Area 24		9	22	31		3			
08 July, 2014	Tuesday	Midweek	Area 24		8	17	21		2			
09 July, 2014	Wednesday	Midweek	Area 24	calm/rippled	9	17	21		2			
10 July, 2014	Thursday	Midweek	Area 24	calm/rippled	12	19	34		2			
11 July, 2014	Friday	Midweek	Area 24		5	5	12		2			
12 July, 2014	Saturday	Weekend	Area 24		2	1	8		1			
13 July, 2014	Sunday	Weekend	Area 24	calm/rippled	2	6	2					
14 July, 2014	Monday	Midweek	Area 24		1							
15 July, 2014	Tuesday	Midweek	Area 24	calm/rippled	4	5	15					
16 July, 2014	Wednesday	Midweek	Area 24	calm/rippled	7	1	18					
17 July, 2014	Thursday	Midweek	Area 24	large swells	9	11	19			23	1035	24
18 July, 2014	Friday	Midweek	Area 24		1	2				15	1043	15
19 July, 2014	Saturday	Weekend	Area 24	calm/rippled	3	6			1			
20 July, 2014	Sunday	Weekend	Area 24		1		2			19	1037	19
21 July, 2014	Monday	Midweek	Area 24		3	4	1			3	0730	6
22 July, 2014	Tuesday	Midweek	Area 24	choppy	2	8	1					
23 July, 2014	Wednesday	Midweek	Area 24	frequent whitecaps	7	8	6					
24 July, 2014	Thursday	Midweek	Area 24		4	3	5			34	1044	35
25 July, 2014	Friday	Midweek	Area 24		2		4					
26 July, 2014	Saturday	Weekend	Area 24	calm/rippled	4	15	9					
27 July, 2014	Sunday	Weekend	Area 24		1		2			10	1037	10
28 July, 2014	Monday	Midweek	Area 24		4	2	6		3	19	1029	19
29 July, 2014	Tuesday	Midweek	Area 24		1							
30 July, 2014	Wednesday	Midweek	Area 24		2	2	1					
31 July, 2014	Thursday	Midweek	Area 24		0							
01 August, 2014	Friday	Midweek	Area 24		2		9					
02 August, 2014	Saturday	Weekend	Area 24		1		4					
03 August, 2014	Sunday	Weekend	Area 24		2		9					
	Totals	Midweek	Area 24	choppy	94	138	200		14	19*		20*

* Average number of boats observed and Expanded

Simple area based cpue (catch per boat trip) expansion

					С	PUE		Retained							
Day Type	Average Expanded Boats	Number of Days	Total estimated Effort	Chinook	Coho	Sockeye	Halibut	Chinook	Coho	Sockeye	Halibut				
Midweek	20	22	440	1.4681	2.1277		0.1489	646	936		66				
Weekend	22	9	198	2.0833	2.7083		0.0833	412	536		16				

Recent years estimates of retained catch and effort

Year	Area	Month	Total Effort	Chinook Kept	Coho Kept	Sockeye Kept	Halibut Kept
2009	Area 24	July	326	69	864		9
2010	Area 24	July	366	114	210	3	27
2011	Area 24	July	384	412	715		79
2012	Area 24	July	357	705	752		113
2013	Area 24	July	558	1201	2140		129
2014	Area 24	July	1070	2042	2664		182
5-Yr Avg	Area 24	July	398	500	936	3	71

Sport Head Recovery Review

Year	Area	Month	Species	Creel Marked Catch	Creel Mark Rate	Creel Submission Rate	iRec Marked Catch	iRec Mark Rate	iRec Submission Rate	Sport Head recoveries
2014	Area 24	7	Coho	339	18 %	0 %	321	24 %	0 %	1
2014	Area 24	7	Chinook	488	28 %	1 %	120	20 %	3 %	3

Guided Proprtions Review

Data Source	Year	Month	Area	Interviews	Guided Proportion
Creel	2014	07	Area 24	21	76 %

Proportion of each day's fishing by hour



		dweek	2	24D - W	eekend	_	24E - N	lidweek	_	24E - W	Veekend	4 <u> </u>	24I - N	lidweek		24I - W	/eekend		24J - N	lidweek	_	24J - V	Veekend	4	24K - I	Midweek	2
Area		01:00 AM	02:00 AM	03:00 AM	04:00 AM	05:00 AM	06:00 AM	07:00 AM	08:00 AM	09:00 AM	10:00 AM	11:00 AM	12:00 PM	01:00 PM	02:00 PM	03:00 PM	04:00 PM	05:00 PM	06:00 PM	07:00 PM	08:00 PM	09:00 PM	10:00 PM	11:00 PM	12:00 AM		
24D	Midweek	0	0	0	0	0	0.272	0.651	0.924	0.924	0.949	0.873	0.672	0.622	0.149	0.112	0	0	0	0	0	0	0	0	0		
	Weekend	0	0	0	0	0	0.5	1	1	1	1	1	0	0	0	0	0	0	0	0	0	0	0	0	0		
24E	Midweek	0	0	0	0	0	0.272	0.651	0.924	0.924	0.949	0.873	0.672	0.622	0.149	0.112	0	0	0	0	0	0	0	0	0		
	Weekend	0	0	0	0	0	0.5	1	1	1	1	1	0	0	0	0	0	0	0	0	0	0	0	0	0		
241	Midweek	0	0	0	0	0	0.272	0.651	0.924	0.924	0.949	0.873	0.672	0.622	0.149	0.112	0	0	0	0	0	0	0	0	0		
	Weekend	0	0	0	0	0	0.5	1	1	1	1	1	0	0	0	0	0	0	0	0	0	0	0	0	0		
24J	Midweek	0	0	0	0	0	0.272	0.651	0.924	0.924	0.949	0.873	0.672	0.622	0.149	0.112	0	0	0	0	0	0	0	0	0		
	Weekend	0	0	0	0	0	0.5	1	1	1	1	1	0	0	0	0	0	0	0	0	0	0	0	0	0		
24K	Midweek	0	0	0	0	0	0.272	0.651	0.924	0.924	0.949	0.873	0.672	0.622	0.149	0.112	0	0	0	0	0	0	0	0	0		
	Weekend	0	0	0	0	0	0.5	1	1	1	1	1	0	0	0	0	0	0	0	0	0	0	0	0	0]	

Area		01:00 AM	02:00 AM	03:00 AM	04:00 AM	05:00 AM	06:00 AM	07:00 AM	08:00 AM	09:00 AM	10:00 AM	11:00 AM	12:00 PM	01:00 PM	02:00 PM	03:00 PM	04:00 PM	05:00 PM	06:00 PM	07:00 PM	08:00 PM	09:00 PM	10:00 PM	11:00 PM	12:00 AM
24L	Midweek	0	0	0	0	0	0.272	0.651	0.924	0.924	0.949	0.873	0.672	0.622	0.149	0.112	0	0	0	0	0	0	0	0	0
	Weekend	0	0	0	0	0	0.5	1	1	1	1	1	0	0	0	0	0	0	0	0	0	0	0	0	0
24M	Midweek	0	0	0	0	0	0.272	0.651	0.924	0.924	0.949	0.873	0.672	0.622	0.149	0.112	0	0	0	0	0	0	0	0	0
	Weekend	0	0	0	0	0	0.5	1	1	1	1	1	0	0	0	0	0	0	0	0	0	0	0	0	0
24N	Midweek	0	0	0	0	0	0.272	0.651	0.924	0.924	0.949	0.873	0.672	0.622	0.149	0.112	0	0	0	0	0	0	0	0	0
	Weekend	0	0	0	0	0	0.5	1	1	1	1	1	0	0	0	0	0	0	0	0	0	0	0	0	0
240	Midweek	0	0	0	0	0	0.272	0.651	0.924	0.924	0.949	0.873	0.672	0.622	0.149	0.112	0	0	0	0	0	0	0	0	0
	Weekend	0	0	0	0	0	0.5	1	1	1	1	1	0	0	0	0	0	0	0	0	0	0	0	0	0
24S	Midweek	0	0	0	0	0	0.272	0.651	0.924	0.924	0.949	0.873	0.672	0.622	0.149	0.112	0	0	0	0	0	0	0	0	0
	Weekend	0	0	0	0	0	0.5	1	1	1	1	1	0	0	0	0	0	0	0	0	0	0	0	0	0

Daily Fishing Conditions

		Eagle Marina	Island West	Marina West Motel	Ucluelet Gov Dock
28 June, 2014	Weekend				
29 June, 2014	Weekend				
30 June, 2014	Midweek				
01 July, 2014	Weekend				
02 July, 2014	Midweek				
03 July, 2014	Midweek				
04 July, 2014	Midweek				
05 July, 2014	Weekend				
06 July, 2014	Weekend				
07 July, 2014	Midweek				
08 July, 2014	Midweek				
09 July, 2014	Midweek				calm/rippled
10 July, 2014	Midweek		calm/rippled		
11 July, 2014	Midweek				
12 July, 2014	Weekend				
13 July, 2014	Weekend	calm/rippled			
14 July, 2014	Midweek				
15 July, 2014	Midweek				calm/rippled
16 July, 2014	Midweek			calm/rippled	
17 July, 2014	Midweek			large swells	
18 July, 2014	Midweek				
19 July, 2014	Weekend			calm/rippled	
20 July, 2014	Weekend				
21 July, 2014	Midweek				
22 July, 2014	Midweek			choppy	
23 July, 2014	Midweek			frequent whitecaps	calm/rippled
24 July, 2014	Midweek				
25 July, 2014	Midweek				
26 July, 2014	Weekend	calm/rippled			
27 July, 2014	Weekend				
28 July, 2014	Midweek				
29 July, 2014	Midweek				
30 July, 2014	Midweek				
31 July, 2014	Midweek				
01 August, 2014	Midweek				
02 August, 2014	Weekend				
03 August, 2014	Weekend				